## Unique Auctions Catalogue 23 Nov 2016

65

1

- 1 A glass topped coffee table £10.00 - £20.00 33 2 A glass topped wooden table £10.00 - £20.00 34 3 An old wooden trunk £10.00 - £20.00 35 4 A metal work bench £10.00 - £20.00 36 A quantity of leaded glass windows £10.00 -37 5 £20.00 A quantity of leaded glass windows £10.00 -38 £20.00 39 A Berkel industrial scales up to 25kg £10.00 -40 £20.00 A garden statue £10.00 - £20.00 41 A G plan teak coffee table £10.00 - £20.00 9 10 A drop leaf mahogany tea table £10.00 - £20.00 42 A pink upholstered drop end settee £10.00 - £20.00 11 43 12 A Bontempi organ on stand and 1 other £10.00 -£20.00 44 A late Victorian 3 fold screen with oriental covering 45 13 a/f £10.00 - £20.00 46 A oak cupboard with tile top £10.00 - £20.00 14 47 15 A dark oak stained corner cupboard £10.00 -48 £20.00 16 A quantity of children's toys including Dr Who 49 £10.00 - £20.00 17 A Victorian mahogany chest commode £10.00 -£20.00 50 2 limited edition boxing prints £10.00 - £20.00 18 19 2 framed and glazed railway poster prints £10.00 -51 £20.00 A Edwardian mahogany octagonal table £10.00 -52 20 £20.00 53 21 A David Shepherd elephant print and 1 other £10.00 - £20.00 A Victorian framed reverse painting on glass 54 £10.00 - £20.00 55 23 A Edwardian mahogany fold over card table £10.00 56 - £20.00 24 A rug of mellow colours 110cm x 195 cm £10.00 -57 £20.00 58 A quantity of mixed prints and frames £10.00 -25 59 £20.00 26 A copper Victorian warming pan £10.00 - £20.00 60 A lacrosse stick and tennis racket £10.00 - £20.00 27 61 28 A white fire surround £10.00 - £20.00 62 29 A pine framed mirror £10.00 - £20.00 30 A Edwardian mahogany Pembroke table £10.00 -63 An acryllic nude figurine £10.00 - £20.00 £20.00 3 filigree flasks ships in bottles £10.00 - £20.00 64 31 A large gilt framed sailing print £10.00 - £20.00
- 2 five drawer chests of drawers £10.00 £20.00 3 metal The Beatles signs £10.00 - £20.00 A copper warming pan £10.00 - £20.00 A copper warming pan £10.00 - £20.00 A framed and glazed map of Lincolnshire £10.00 -£20.00 A small dark wood hall table £10.00 - £20.00 A pair of bamboo wood shelves £10.00 - £20.00 A mahogany sideboard with back shelf a/f £10.00 -£20.00 A quantity of old children's books and annuals £10.00 - £20.00 Two Italian scene pictures £10.00 - £20.00 An unusual hand formed clay figurine pot/vase £10.00 - £20.00 A wall clock £10.00 - £20.00 A set of graduated Swan planters £10.00 - £20.00 A glazed bureau top £10.00 - £20.00 An oil on board and 2 prints £10.00 - £20.00 A quantity of boxed glassware including a decanter £10.00 - £20.00 A mahogany shield shaped dressing table mirror with original mercury glass and new glass a/f £10.00 - £20.00 A box of framed and glazed pictures £10.00 -£20.00 A good shelf of beer, lager and cider £10.00 -£20.00 A large quantity of glasses and beer steins £10.00 - £20.00 A set of 4 lawn bowls and a set of carpet bowls £10.00 - £20.00 2 brightly coloured lamp bases £10.00 - £20.00 2 full whisky Bells etc £10.00 - £20.00 A quantity of unopened liquers including Famous Grouse £10.00 - £20.00 A quantity of sea shells £10.00 - £20.00 3 pieces of art pottery £10.00 - £20.00 3 Middle Eastern inlaid boxes including mother of pearl (1 a/f) £10.00 - £20.00 A collection of 20 shaving mugs £10.00 - £20.00 A large quantity of erotic figures £10.00 - £20.00 A cased smoking set and cased champagne thermometer £10.00 - £20.00

A quantity of assorted figures including Gullivers

World £10.00 - £20.00

BidMaster Office

A quantity of brass items £10.00 - £20.00

32

- 66 A vintage wedding dress £10.00 £20.00
- 67 A quantity of LP records including Dire Straits, Meatloaf etc £10.00 - £20.00
- 68 A quantity of unopened bottles of alcohol £10.00 £20.00
- 69 A dimple bottle and contents and cask bottle and contents £10.00 £20.00
- 70 2 sealed Bells whisky bells £10.00 £20.00
- 71 A quantity of bottles including Black Tower and Malibu £10.00 £20.00
- 72 A silber plated tankard and 5 others £10.00 £20.00
- 73 Unusual inkwells including pewter, marble glass £10.00 £20.00
- 74 A collection of glassware including ice buckets, paperweights etv £10.00 £20.00
- 75 A collection of comics including Marbel, Valiant etc £10.00 £20.00
- 76 A quantity Corinthian footballers £10.00 £20.00
- 77 A quantity of bottles of alcohols including novelty and Bells whicky bells and optics £10.00 £20.00
- 78 A large quantity of alcohol bottles and contents £10.00 £20.00
- 79 A Doulton Falstaff character jug and 2 Toby jugs £10.00 £20.00
- 80 2 Portmeirion planters and a tiled serving plate £10.00 £20.00
- 81 A quantity of collectors plates including Coalport, some with aircraft £10.00 £20.00
- 82 A quantity of collectors dolls including Charles and Diana £10.00 £20.00
- 83 A large model of a horse by Leonardo £10.00 £20.00
- 84 3 ornate egg shaped boxes £10.00 £20.00
- 85 A gilded metal Chinese dragon £10.00 £20.00
- 86 A 4 piece silver plated tea set £10.00 £20.00
- 87 5 Victorian Staffordshire figures £10.00 £20.00
- 88 A quantity of sea shells £10.00 £20.00
- 89 A Beswick Pavlova coffee pot and a character jug of Montgomery £10.00 - £20.00
- 90 3 collectors teapots and a Toby jug £10.00 £20.00
- 91 A quantity of Steam Railway magazines £10.00 £20.00
- 92 A quantity of assorted alcohol bottles some with contents £10.00 £20.00
- 93 A quantity of alcohol bottles and glassware £10.00 £20.00
- 94 A quantity of glassware including paperweights, jelly moulds etc £10.00 £20.00
- 95 2 garden wall pots and 1 other £10.00 £20.00
- 96 A quantity of magazines on railways £10.00 -

- £20.00
- 97 A quantity of 78rpm records £10.00 £20.00
- 98 A large Chinese blue and white vase £10.00 £20.00
- 99 A quantity of stoneware beer bottles and flagons £10.00 £20.00
- 100 A quantity of assorted wooden items including cork screw, wine rack etc £10.00 £20.00
- 101 7 vintage clocks including Hynzel £10.00 £20.00
- 102 2 glove boxes £10.00 £20.00
- 103 A carved wooden elephants head wall hanging £10.00 £20.00
- 104 2 new soft suitcases £10.00 £20.00
- 105 A quantity of decoraive alcohol bottles some with part contents £10.00 £20.00
- 106 A quantity of alcohol bottles some with part contents £10.00 £20.00
- 107 A pair of glazed contiental bisque figurines and a pair of salad servers £10.00 £20.00
- 108 A quantity of alabaster items including ash tray, clock etc £10.00 £20.00
- A novelty Apaloosa horse whisky bottle and a cats head string holder £10.00 £20.00
- 110 A silver plated bowl, Lincoln related brassware, vintage skipping ropes etc £10.00 £20.00
- 111 A quantity of railway magazines £10.00 £20.00
- 112 A pair of cut glass decanters etc £10.00 £20.00
- 113 2 commerctive Bells whisky bells (one boxed) £10.00 £20.00
- 114 2 Babycham figures and 12 glasses £10.00 £20.00
- 115 A Juliana leopard figural group £10.00 £20.00
- 116 A quantity of alcohol bottles some with contents £10.00 £20.00
- 117 A quantity of alcohol bottles some with contents £10.00 £20.00
- 118 A quantity of old handbags £10.00 £20.00
- 119 An Arts and Crafts style mirror £10.00 £20.00
- 120 A large quantity of stoneware tankards and steins including military £10.00 £20.00
- 121 A brass fireplace fender £10.00 £20.00
- 122 A quantity of old boxes including bone examples £10.00 £20.00
- 123 A gilded ormulu table lamp £10.00 £20.00
- 124 A wall clock made of watch parts and 2 others etc £10.00 £20.00
- 125 A framed print of a steam train by Don Brecon 1981 £10.00 - £20.00
- 126 A quantity of Titanic film related items including stamps, trinket box etc £10.00 £20.00
- 127 A quantity of old bottles including Cod bottles

	£10.00 - £20.00		£20.00	
128	2 old wooden stools and a wooden table £10.00 - £20.00	156	A quantity of foreign coins including 19th c examples £10.00 - £20.00	
129	A 4 tier darkwood stained corner whatnot £10.00 -	157	A pair of Yves St Laurent earrings £10.00 -	
400	£20.00	158	A BBM made in Italy starting pistol £10.00 -	
130	A quantity of teapots, coffepots etc £10.00 - £20.00	159	A Royal Doulton Lindsay figurine £10.00 - £	
131	A quantity of wooden items including tribal mask etc £10.00 - £20.00	160	A limited edition King of Rock and Roll pock knife £10.00 - £20.00	
132	A 3 tiered dark wood effect corner whatnot £10.00 - £20.00	161	A quantity of miscellaneous including multi- cufflinks etc £10.00 - £20.00	
133	A quantity of brass and copper items including picture frame, hunting horn etc £10.00 - £20.00	162	A religious artifact photo frame £10.00 - £20	
134	A quantity of oriental blue and white items including teapots, lidded pots etc £10.00 - £20.00	163	A quantity of 35mm cameras with lenses inc Pentax and Practica £10.00 - £20.00	
135	A quantity of stoneware beer bottles some named £10.00 - £20.00	164	A cut glass trinket set with ornate perfume t £10.00 - £20.00	
136	A 4 tier darkwood stained corner whatnot with	165	A pair of ornate porcelain and speleter table (1 a/f) £10.00 - £20.00	
	leather insets £10.00 - £20.00	166	A bisque figurine of a ballet dancer £10.00 -	
137	A quantity of Wedgwood and Aynsley including Wild Strawberry £10.00 - £20.00	167	A quantity of onyx eggs £10.00 - £20.00	
138	2 old spelter figures of Egyptian Rameses £10.00 - £20.00	168	A cut glass decanter and 4 glasses and a be £10.00 - £20.00	
139	A quantity of glass bowls etc £10.00 - £20.00	169	An Edwardian high back elbow chair £10.00 £20.00	
140	A large quantity of empty coin cases £10.00 - £20.00	170	A Rosina Wachtmeister frames and glazed £10.00 - £20.00	
141	A quantity of small ornaments £10.00 - £20.00	171		
142	A case of Julie and Boris desire fantasy night collection £10.00 - £20.00	171	2 boxes of LP records including country mu £10.00 - £20.00	
143	A album of Royal Wedding first day covers 1981 £10.00 - £20.00	172	2 boxes of 78 rpm records £10.00 - £20.00	
		173	33 pieces of Royal Grafton bone china Reg Pottery teaware £10.00 - £20.00	
	A quantity of postcards £10.00 - £20.00	174	A wooden sailing yacht named Kerry Rose	
145	A quantity of glassware including cranberry £10.00 - £20.00		- £20.00	
146	A Greek style classical figurine £10.00 - £20.00	175	A small Edwardian inlaid mahogany circular £10.00 - £20.00	
147	A pair of 19th c Staffordshire figure Cobbler Johnson and wife Nell £10.00 - £20.00	176	17 handkerchief vases - various colours £10 £20.00	
148	A quantity of vintage cigars and cigarettes including King Edwards, Players, Capstan etc £10.00 - £20.00	177	A large leather suitcase and a travel suitcas wheels £10.00 - £20.00	
149	Butterflies under a glass dome and flowers under dome £10.00 - £20.00	178	A copper rimmed painted log trough £10.00 £20.00	
150	A quantity of old photograph postcards £10.00 -	179	An old metal cheese curdler £10.00 - £20.0	
150	£20.00	180	A walnut effect nest of three tables £10.00 -	
151	A Mauchline ware box of Boston Church, a Sleaford advertisng brush and a quantity of glassware £10.00 - £20.00	181	3 ornamental wall plaques of flowers £10.00 £20.00	
		182	An onyx cigarette box, tobacco jar and asht	
152	A quantity of good miscellaneous items including cloisonne bird house, wax seal etc £10.00 - £20.00	183	£10.00 - £20.00  A box of misc china including oriental ginge	
153	A tray of vintage bus tickets £10.00 - £20.00		£10.00 - £20.00	
154	A quantity of crowns and 1953 cricket medals	184	A smoked glass TV stand £10.00 - £20.00	
155	£10.00 - £20.00 6 boxed Nao Flakys World snowmen £10.00 -	185	A quantity of leather wallets and cases £10. £20.00	

Laurent earrings £10.00 - £20.00 taly starting pistol £10.00 - £20.00 Lindsay figurine £10.00 - £20.00 King of Rock and Roll pocket 0.00 cellaneous including multi-tools, 00 - £20.00 et photo frame £10.00 - £20.00 nm cameras with lenses including tica £10.00 - £20.00 et set with ornate perfume bottle orcelain and speleter table lamps 20.00 of a ballet dancer £10.00 - £20.00 x eggs £10.00 - £20.00 nter and 4 glasses and a bowl gh back elbow chair £10.00 neister frames and glazed print cords including country music n records £10.00 - £20.00 al Grafton bone china Regency £10.00 - £20.00 yacht named Kerry Rose £10.00 an inlaid mahogany circular table vases - various colours £10.00 uitcase and a travel suitcase on £20.00 painted log trough £10.00 ese curdler £10.00 - £20.00 est of three tables £10.00 - £20.00 Il plaques of flowers £10.00 e box, tobacco jar and ashtray ina including oriental ginger jar TV stand £10.00 - £20.00 her wallets and cases £10.00 -6 boxed Nao Flakys World snowmen £10.00 -155

3

186	A mahogany dining table and 6 chairs with brass inlay £10.00 - £20.00	0.4.0	£20.00
187	A quantity of auction catalogues £10.00 - £20.00	218	A large quantity of copper plumbers fittings £10.00 - £20.00
188	A large quantity of S.Paula dinner ware £10.00 - £20.00	219	A quantity of cameras and accessories £10.00 - £20.00
189	A box of pub ash trays, pub glasses etc £10.00 -	220	A foldable work bench £10.00 - £20.00
	£20.00	221	A set of oak wall shelves £10.00 - £20.00
190	4 Victorian balloon back chairs £10.00 - £20.00	222	A loom chair with sprung seat £10.00 - £20.00
191	A set of 4 darkwod hoop back dining chairs with burgundy decoration £10.00 - £20.00	223	A grey fabric covered ottoman £10.00 - £20.00
192	A quantity of pub bottle holders £10.00 - £20.00	224	A Ryobi petrol leaf blower £10.00 - £20.00
192	5 vintage brass door handles £10.00 - £20.00	225	2 green Parker Knoll bedside chairs £10.00 -
194	A brass five sided ceiling light with bevelled glass		£20.00
134	panels £10.00 - £20.00	226	3 bamboo conservatory chairs £10.00 - £20.00
195	A Victorian brass fender and a quantity of fire irons £10.00 - £20.00	227	A patinated brass effect standard lamp with shade £10.00 - £20.00
196	2 folding camping stools £10.00 - £20.00	228	A pair of conservatory chairs and stool £10.00 - £20.00
197	A quantity of miscellaneous including plates etc £10.00 - £20.00	229	A Victorian hanging brass oil lamp and Victorian copper oil lamp £10.00 - £20.00
198	A quantity of LP records including Charlie Kunz £10.00 - £20.00	230	A quantity of spaniel dog ornaments £10.00 - £20.00
199	A quantity of wrapped craft items £10.00 - £20.00	231	A six place setting Royal Vale floral teaset £10.00
200	A Grundig Satellie Transistor 8001 radio £10.00 -		- £20.00
201	£20.00 A set of 4 Edwardian high backed dining chairs with upholstered seats and Queen Anne legs £10.00 - £20.00 A set of 4 Edwardian mahogany dining chairs with wheatsheaf carvings on padfoot feet £10.00 - £20.00	232	An oak barley twist gateleg table £10.00 - £20.00
201		233	2 boxed carving sets £10.00 - £20.00
		234	A Land of the Dragon ornament and a wizard £10.00 - £20.00
202		235	12 gilded Venetian glasses £10.00 - £20.00
		236	A 47 piece Alfred Meakin ironstone dinner service
203	A set of 4 ladderback dining chairs £10.00 - £20.00		£10.00 - £20.00
204	A mahogany high back chair with carved decoration £10.00 - £20.00	237	A cut glass bowl marked Stuart and a straw work box £10.00 - £20.00
205	A light mahogany stick back chair £10.00 - £20.00	238	A straw filled kangaroo, stuffed duck and a wooden duck £10.00 - £20.00
206	A pair of Edwardian high back dining chairs on Queen Anne legs £10.00 - £20.00	239	A set of leather insert glass topped nest of tables £10.00 - £20.00
207	A set of 4 bergere backed dining chairs £10.00 -	240	A double wall light made of antlers £10.00 - £20.00
200	£20.00	241	A Victorian brass fender £10.00 - £20.00
208 209	A Riley snooker score board £10.00 - £20.00	242	2 relief battle scene wall plaques £10.00 - £20.00
209	An Edwardian oak high back carver chair £10.00 - £20.00	243	A still life on board of fruit £10.00 - £20.00
210	A quantity of printed ephemera £10.00 - £20.00	244	A pair of wrought iron glass chandelier ceiling
211	A 19th c carved oak desk £10.00 - £20.00		lights £10.00 - £20.00
212	2 framed watercolours, one being Catterick village	245	2 vintage dolls with plastic heads £10.00 - £20.00
	York £10.00 - £20.00	246	A Victorian brass fender £10.00 - £20.00
213	A 1930s nursing chair £10.00 - £20.00	247	A quantity of engineering books £10.00 - £20.00
214	A square two tier coffee table £10.00 - £20.00	248	A quantity of Babycham glasses etc £10.00 -
215	A Singer sewing machine on table £10.00 - £20.00	0.40	£20.00
216	An Edwardian mahogany side table £10.00 - £20.00	249	A quantity of African and Oriental busts and figures etc £10.00 - £20.00
217	A quantity of cream bathroom wall tiles £10.00 -	250	A round retro teak coffee table with glass centre £10.00 - £20.00

4

251	A pair of shabby chic painted elbow chairs £10.00 - £20.00		2 Victorian rosewood piccolos £10.00 - £20.00
252	A Victorian brass and iron fender £10.00 - £20.00	284	A Panasonic music centre (condition unknown) £10.00 - £20.00
253	A vintage ormulu electric fire a/f £10.00 - £20.00	285	A 1920s Underwood noiseless typewriter £10.00 -
254	A quantity of LP records including Roy Orbison etc £10.00 - £20.00	286	£20.00 An ALBA record player music centre (condition
255	A large quantity of 45 rpm single records £10.00 -	200	unknown) £10.00 - £20.00
	£20.00	287	A dark wood polished TV cabinet £10.00 - £20.00
256	A DVD players, Sky + hd box and a video player £10.00 - £20.00	288	A Davies rocking horse £10.00 - £20.00
257	A wooden case of tools £10.00 - £20.00	289	A quantity of Leonardo pig and duck ornaments £10.00 - £20.00
258	An ALBA music system (condition unknown) £10.00 - £20.00	290	An Art Nouveau mahogany sideboard £10.00 - £20.00
259	An oval dark wood stained coffee table £10.00 - £20.00	291	A dark wood stained TV cabinet £10.00 - £20.00
		292	A large blue art glass bowl £10.00 - £20.00
260	2 green glass wall hangings £10.00 - £20.00	293	A 1930s oak side table with turned legs £10.00 -
261	3 mirror backed brush wall hangings one with a barometer £10.00 - £20.00	224	£20.00
262	An 18 piece Deco style tea set £10.00 - £20.00	294	A Beswick Henry VIII character jug £10.00 - £20.00
263	A mahogany chair with woolwork pattern seat	295	A mahogany effect hifi cabinet £10.00 - £20.00
	£10.00 - £20.00	296	A quantity of Millers antiques Millers catalogues £10.00 - £20.00
264	3 oils on canvas of Meditteranean village house scenes £10.00 - £20.00	297	A light oak barley twist table £10.00 - £20.00
265	An oriental tea set £10.00 - £20.00	298	A quantity of children's books including annuals and Ladybird etc £10.00 - £20.00
266	A brass chestnut roaster, 2 toasting forks and a skimmer £10.00 - £20.00	299	A J Sidney Spear sideboard £10.00 - £20.00
267	An oak piano stool with Queen Anne legs £10.00 - £20.00	300	A quantity of LP records including Phil Spectres Christmas Album £10.00 - £20.00
268	A quantity of silverplate including cutlery,	301	A 1930s oak dressing table £10.00 - £20.00
200	pheasants, tray etc £10.00 - £20.00	302	A floating fish in tube water feature £10.00 - £20.00
269	3 framed humourous engravings £10.00 - £20.00	303	A quantity of LP records including George Formby £10.00 - £20.00
270	A Delphi china Orchard pattern tea set £10.00 - £20.00	304	A quantity of prints £10.00 - £20.00
271	A quantity of silverplate including candelabra, trophies, tankard etc £10.00 - £20.00	305	A green five piece suite consisting a three seater and 4 arm chairs £10.00 - £20.00
272	A Colclough tea set and a quantity of floral patterned china £10.00 - £20.00	306	A quantity of large decorative wall fans £10.00 - £20.00
273	A tripod wine £10.00 - £20.00	307	2 ships jackets £10.00 - £20.00
274	A musical jewellery box and 1 other £10.00 - £20.00	308	A collection of boxed Sindy sets including Buggy, Caravan, Garden etc £10.00 - £20.00
275	A quantity of colourful childrens prints on canvas	309	A quantity of unusual beer steins £10.00 - £20.00
	£10.00 - £20.00	310	A tall book case £10.00 - £20.00
276	A quantity of 45 rpm single records £10.00 - £20.00	311	A large eastern brass tray and a silver plated tray
277	A pink upholstered childs chair £10.00 - £20.00	242	£10.00 - £20.00
278	A metal Jaz electric wall clock £10.00 - £20.00	312	An original gilt framed oil on canvas Lake Scene signed B Tomaso £10.00 - £20.00
279	A quantity of old dolls, small houses, monkey etc £10.00 - £20.00	313	An oak gateleg table £10.00 - £20.00
280	A oak biscuit barrel, wooden bowl etc £10.00 - £20.00	314	A engraving of Ophelia, signed watercolour of trees and a oriental silk picture £10.00 - £20.00
281	A collection of old tins £10.00 - £20.00	315	A drak wood stained standard lamp £10.00 -
282	Pine effect library steps £10.00 - £20.00	040	£20.00
	·	316	A glazed 2 door book case £10.00 - £20.00

317	An inlaid mahogany two drawer cabinet £10.00 - £20.00	349	A Chinese hand carved eagle in serpentine and semi precious stone £10.00 - £20.00
318	An oak gateleg table with scallop top and barley	350	A quantity of stoneware bottles £10.00 - £20.00
319	twist legs £10.00 - £20.00	351	A quantity of 45 rpm singles £10.00 - £20.00
319	A collection of childrens educational posters £10.00 - £20.00	352	A box of records £10.00 - £20.00
320	A Royal Doulton balloon seller figurine £10.00 - £20.00	353	A quantity of framed posters mainly Lincolnshire £10.00 - £20.00
321	A Victorian spinnet converted to a desk £10.00 - £20.00	354	A vintage leather case, Russian binoculaurs etc £10.00 - £20.00
322	A quantity of picture frames £10.00 - £20.00	355	2 carved wooden items £10.00 - £20.00
323	A quantity of cameras and video cameras including Pentax £10.00 - £20.00	356	A mixed lot of china including Royal Worcester trio £10.00 - £20.00
324	A vintage loom effect bin and magazine rack	357	A linen bin £10.00 - £20.00
	£10.00 - £20.00	358	A Corinthian bagetelle board £10.00 - £20.00
325	A mahogany effect drop leaf table £10.00 - £20.00	359	A dark wood stained torchere stand £10.00 - £20.00
326	A framed watercolour signed Olive Free £10.00 - £20.00	360	A Tiffany style ceiling light £10.00 - £20.00
327	2 framed country prints £10.00 - £20.00	361	A framed and glazed harbour scene £10.00 -
328	3 Masons oak platters £10.00 - £20.00	200	£20.00
329	A quantity of West Highland Terrier dog ornaments	362	2 old prints £10.00 - £20.00
	£10.00 - £20.00	363	A quantity of Elvis collectables some a/f £200.00 - £30.00
330	A Chinese hand carved eagle in serpentine and semi precious stone £40.00 - £60.00	364	A pair of copper African wall plaques £10.00 - £20.00
331	4 walking sticks, one with horn decoration £10.00 - £20.00	365	A quantity of light fittings £10.00 - £20.00
332	A quantity of paperweights, vases etc £10.00 -	366	A quantity of light fittings £10.00 - £20.00
002	£20.00	367	A quantity of light fittings £10.00 - £20.00
333	An erotic chess set £20.00 - £30.00	368	A toilet mirror £10.00 - £20.00
334	A boxed 1970s Claremont Chalet dolls house and contents £10.00 - £20.00	369	A pair of pictures of Indian squaw and eagles £10.00 - £20.00
335	A box of old tins £10.00 - £20.00	370	A quantity of NME magazines The Beatles
336	A limited edition print River Nene £10.00 - £20.00		collectors issues £10.00 - £20.00
337	A dark wood stained torchere stand £10.00 - £20.00	371	A boxed Corgi Jubilee coach and others £10.00 - £20.00
338	A pair of antique coaching prints in original gold	372	A quantity of light fittings £10.00 - £20.00
	leaf frames £10.00 - £20.00	373	A glass TV stand £10.00 - £20.00
339	A quantity of silverplate including toast rack etc £10.00 - £20.00	374	A box of pictures etc £10.00 - £20.00
340	2 boxes of ornaments £10.00 - £20.00	375	A mounted buckle collection including Jack Daniels £10.00 - £20.00
341	A print on board of Lincoln Cathedral from the	376	A quantity of records in case £10.00 - £20.00
	Brayford £10.00 - £20.00	377	A quantity of pictures £10.00 - £20.00
342	A quantity of fruit decorated plates etc £10.00 - £20.00	378	A brass fender £10.00 - £20.00
343	A quantity of linen £10.00 - £20.00	379	An oil on board of Lincoln Cathedral £10.00 -
344	A quantity of LPs including Bee Gees etc £10.00 -	380	£20.00 An 18 piece Mayfair tea set £10.00 - £20.00
	£20.00	381	A Nestles Milk print £10.00 - £20.00
345	A quantity of books £10.00 - £20.00	382	A Gustav Klmit print £10.00 - £20.00
346	A lovers table lamp £20.00 - £30.00	383	A quantity of glass vases, dishes etc £10.00 -
347	2 barometers £10.00 - £20.00		£20.00
348	2 signs £10.00 - £20.00	384	8 volumes of The War Illustrated £10.00 - £20.00

385	A quantity	of light	fittings	£10.00 -	£20.00

- 386 A telephone table £10.00 £20.00
- 387 An extending dining table £10.00 £20.00
- 388 A heater £10.00 £20.00
- 389 A seed sewer £10.00 £20.00
- 390 A quantity of DVDs etc £20.00 £30.00
- 391 An unusual wall book shelf £10.00 £20.00
- 392 A Whirlpool washing machine £10.00 £20.00
- 393 A box of LPs and singles £10.00 £20.00
- 394 A display cabinet £10.00 £20.00
- 395 A quantity of steins £10.00 £20.00
- 396 An Electrolux freezer £10.00 £20.00
- 397 A Victorian mahogany carver chair £10.00 £20.00
- 398 A Hotpoint electric cooker £10.00 £20.00
- 399 A wooden step ladder £10.00 £20.00
- 400 A bergere backed chair £10.00 £20.00
- 401 A nest of two tables £10.00 £20.00
- 402 A 2 drawer hall sideboard £10.00 £20.00
- 403 A butterfly light £10.00 £20.00
- 404 A 4 drawer chest of drawers £10.00 £20.00
- 405 A 4 drawer chest of drawers £10.00 £20.00
- 406 A set of shelves £10.00 £20.00
- 407 A fire screen £10.00 £20.00
- 408 A dining table £10.00 £20.00
- 409 A pair of chairs £10.00 £20.00
- 410 Cut-glass mirror-back overmantle with marble-top cupboard £10.00 £20.00
- 411 A corner cupboard £10.00 £20.00
- 412 A quantity of framed pictures £10.00 £20.00
- 413 A carved sideboard £10.00 £20.00
- 414 A ships steam air vent £10.00 £20.00
- 415 4 balloon back chairs £10.00 £20.00
- 416 3 Art Deco mirrors £10.00 £20.00
- 417 A Danish wooden bench £10.00 £20.00
- 418 A Danish wooden bench £10.00 £20.00
- 419 A drop leaf table £10.00 £20.00
- 420 A bureau £10.00 £20.00
- 421 A lead glazed book case £10.00 £20.00
- 422 A open cupboard with 2 drawers £10.00 £20.00
- 423 A heavy bench £10.00 £20.00
- 424 A nice dresser £10.00 £20.00
- 425 A quantity of steins etc £10.00 £20.00
- 426 A dresser £10.00 £20.00
- 427 A quantity of beer glasses etc £10.00 £20.00
- 428 A Morris table and chairs £10.00 £20.00
- 429 A set of six Stellar copper saucepans £10.00 £20.00

- 430 A wooden cutlery stand on legs (no cutlery) £10.00 £20.00
- 431 A single wardrobe £10.00 £20.00
- 432 A large leather topped coffee table £10.00 £20.00
- 433 A dressing table with mirror £10.00 £20.00
- 434 A cane seat and round cane seat £10.00 £20.00

BidMaster Office

7